00°S60 +88
09°LLO T =(9)-(1) :0R.IIXY op opmbi opejnsey
09°LLO T =(q)-(1) :soisoduaf sayue opeynsay 09°LLO 1 oRRIAXT op opmbi] opelnsay
09°LLO T =(D)-(q@) :s93ua.L10]) SOPEINSIY
00071~ =(V-D)-(d-() :S0IRIUBUL] SOPEINSHY 0F'LT0 €88 me(n)
09°L6T 1 =(v)-(@) 'sievopuaadg sopeymsey .
ORIIAXH Op ojudwuipudyys oysoduy
OWNSTA 0F'L10 €88 wine)
.................................. SOLIBUIPIORIIXT] SEPIIJ @ S09811)
0F°L10 £88 B (o))
00°S60 £88 ()
00°0Z1 00°021 11, sesadsa(q
SOLIBUIPIOR.IIX SOYUBL) 3 SOIIA0L] SELIBOURE SAQSSTUIO))
00°€60 +88 (@) 'SAIBIWLS SOJSN) @ soan(
000 T elililg) "OURUL] AUT D1 d Y A0/ HOWY
odni3 op sesardwy e soAnBRY 0088y @ odniny sesaxdurg we sepis
'SQIR[IWIS SODAOLJ © SOIn[ SO0 0+°L68 288 R (V)
sonno 00°067 00°06% siguonead( sopsn)) soqng
sepediagu] sesaadwry € SOANR[Y
[eyde)) ap saodednaed ap sojudWIpuIY 9 0EL S SI0SIAOLJ
sepeidosse @ odnad op sesaadwo wo soyuen oc‘0gL S sojuaweysnly 2 sagdeziiowy
oo‘'se0v88 | | (a)
6V91€ PTL 0005z € s0In0
00°00€ I¥S 00°00€ 8T siguoneRdQ $01RA0.] SO.NQ 00°096 9 oyeqei], 'OV ‘89§
00°000 €15 Je1d0§ “3ag ep ogdeaojdxy g soipisqng SPI6E 0€1 NS sosxeousy
saavjuswd[dng S0J19A04Y sagdezIuwapu]
00°0 gsaadw eridoad soyjeqeay, #0°CTL 188 $900BIQUNILIY
000 opdnpoid ap ogderie A [B0SSaJ O WI0D SOISN))
SS'098 TSI 66096 281 SOWIANXT SOSIAIDS 9 SOJUILITIIMLIO
00°S6L TS 00eLTre | so31a12g 3p sagde)sasg
SOHNVD H SOLITAOUd SYaQ¥dd 4 SOLSnD
€£T0T £70T
€707 OINAWYIUO BdueL) g olody ap 0.3ua) - DV Od SOAY.LTINSTH OYIVILSNOWAA




